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'SUBTRACTION INTEGER MODELING" "™

Represent the following problems on the given number lines

6-2=.....

2 3 4 6 6 7 8 98 10

1

-1 0

7 6 5 4 3 2

-8

-10 -9

5 b 7 8 9 10

2 3 4

1

0

-1

1098 7 6 65 4 3 2

_— ) - O -_—
— -—
—— g - g ——
—— 8 — 8 e
L= ol ? = ? 3
ey 5 o B i
+ o ) +
—— 4 o 4 —_—
- ™ L om 4
4 ™ RN +
L - i — R
o nu —— U b
f— b el -y - -
[} 1)
LN 4+ oy L
L e L om L
1 1]
L=t + = L
BTy’ BT, L
e 1 + @ 2
4ok 4o~ 4
+ + o L
+ @ 1o 4
1 =2 L 2 L
— —
L] 1]
1]
1] L] ——
m D 4
g’
© oy o~
o <t w

2 3 4 566 7 8 910

1

0

-1

409 8 7 6 5 4 3 2

2-(5)= .

2 3 4 58 6 7 8 910
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8-1= ...,
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8. 5-(-2)= virenne.
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3-6= ...
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6+8=

0 +1 42 +3 +4 +5 +6 +7 +8 +9 +10
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0 +1+2 +3+4 +5 +6 +7 +8 +9 +10
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0 +1 42 +3 +4 +5 +6 +7 +8 +9 +10
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0 +1+2 43 +4 +5 +6 +7 +8 +9 +10
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